12@0564 (K12a0564)

Linearized knot diagam

N TR

l\.,\/

/
g“/\\ﬁ\) 9 8 11 12 2 4 1 6 5 10
/
/
K\ 1 \-/
U Solving Sequence
12 > ~> —» - 92 —> 8 —> 4 —> - 1 — C1,C3,C
A knot diagranﬂ 5 11 6 3762 2 c7 8 C4 401010012 1 Cy I e

Ideals for irreducible component#ﬂ)f Xpar

= (—uP 4+ 4uP? £ oAb+ 4, 205 — 4Pt - da — 12, 65— 2u%5 o —Bu 4 2)
= (a*u® 4 2u%a + 20 — 2u® + b + 4a — 4, 2a*u® 4 o® + 2uPa + 4a® + au — 2u® + 20 —u — 4, ud +2u —1)
(— Wru =4S +30 — At + 20+ b—u—1, —u® — 50" —8u® —3ud +a+u,
u'® + 5u® + 8ub + 3ut —u? 4 1)
I} = (3a*u® — 2ua + 4a’u — 2u’a + 2u® + 2a* — 2au + 2u* + b + 2u,
—2uta® — 2a%u? + 8ula + a® — 4a®u + 3ula — 2u® — 4a® + 13au — u® + 8a — 3u — 2
ut +ud + 2u? + 2u 4 1)

IS —_—

* 4 irreducible components of dim¢ = 0, with total 87 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I. If =
(—uB®+4ud% 4. .. +4b+4, 2u®® —4u*+.. . +4a—12, u®® —2u®5+... —5u+2)

(i) Arc colorings

ap= \_Lyss 2,51 .oy L2y 1y,
_%USE) 13053 4 ... — Ly — 1
asg = Zu55—u54+-~~+gu—1
1 21 1 1
Zu44+Tu42+"'+g“+§
as= \—qu —5ut2 4 ... — 242 +y
u? +1
aio = \ —u* — 2u?

IS

u® + 4ub + 4u?
( ul +5u8 +8ub +3ut —u? +1 )
—u

6—3u4—2u2—|—1>

ag = 12 _ 6410 — 1248 — 8ub — u?t — 202

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u’ — 4u®* + .- 4+ 20u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® + 1900 4 - — 20u + 1
Co,C7 WO+ e+ 106 + 1
C3,C4,C8 WO+ 4 2u+1
Cs5, €105 C11 u® 4 2u% - Bu 42
Co u®® — 2u°% 4. — 231w + 202
Cg, C12 u?® — 8u” + -+ — 1317u + 136




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 YO + 4Ty + -+ 1224y + 1
2,07 Y0 +199%° + ... — 20y + 1
C3,C4,C8 Y% + 63y + .. — 84y +1
Cs5, €105 C11 y*0 +52y° + .-+ 19y + 4
¢ 56 55
6 Yy + 20y°° 4 - - - + 498907y + 40804
56 55
€9, C12 y? 4+ 48y°° 4 - - — 423177y + 18496




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

= 0.167031 + 1.0234601
= 0.581239 + 0.3892261 4.78319 4 2.481531 | —3.50379 — 2.324841
= 0.786716 — 0.9317881

= 0.167031 — 1.0234601
= 0.581239 — 0.3892261 4.78319 — 2.481531 | —3.50379 + 2.324841
= 0.786716 + 0.9317881

= 0.692071 4 0.4378031
= —0.66383 — 2.046821 10.54030 — 5.203171 | —1.76462 4 3.902351
= —0.37969 + 1.485631

= 0.692071 — 0.4378031
= —0.66383 + 2.046821 10.54030 + 5.203171 | —1.76462 — 3.902351
= —0.37969 — 1.485631

—0.708508 +- 0.4104031
1.96906 — 2.089511 8.5419 +11.54201 | —4.16165 — 8.132341
= —1.10648 + 2.127761

—0.708508 — 0.4104031
= 1.96906 + 2.089511 8.5419 — 11.54201 | —4.16165 + 8.132341
= —1.10648 — 2.127761

= 0.622613 + 0.5255631
= 1.77821 4 0.875701 10.86790 + 0.818917 | —1.02610 4 2.143031
= —0.85453 — 1.371501

= 0.622613 — 0.5255631
= 1.77821 — 0.875701 10.86790 — 0.818917 | —1.02610 — 2.143031
= —0.85453 + 1.371501

= —0.592033 + 0.5572731
= —1.57209 4 2.234631 9.08740 — 7.177591 | —2.84487 4 2.353391
= —0.22451 — 1.532191

= —0.592033 — 0.5572731
= —1.57209 — 2.234631 9.08740 4 7.177591 | —2.84487 — 2.353391
= —0.22451 + 1.532191

> Q& €|l & €|l & €| Q& €| Q& €| Q@ &l Q& €|l & €|l & €| & &
I




Solutions to I V—=1(vol ++/—=1CS) Cusp shape
= —0.103142 4 1.1853307
= 0.186061 — 0.410343I | —0.051945 — 0.3857611 0
= 1.46690 + 0.659831
= —0.103142 — 1.1853301

0.186061 + 0.4103431 | —0.051945 + 0.3857611 0

1.46690 — 0.659831

0.669252 + 0.4123307
2.47043 + 1.870491
—1.39269 — 1.976961

2.26755 — 7.245731

—6.66677 4 8.309521

0.669252 — 0.4123301
2.47043 — 1.870491
—1.39269 + 1.976961

2.26755 + 7.245731

—6.66677 — 8.309521

—0.206699 + 0.7523551
0.574163 — 0.0453881
0.468649 — 0.5144201

4.95627 4 2.538291

—2.18457 — 3.786541

—0.206699 — 0.7523551
0.574163 + 0.0453881
0.468649 + 0.5144201

4.95627 — 2.538291

—2.18457 4 3.786541

0.582613 + 0.4980441
—1.36009 — 2.665831
—0.26540 + 1.656181

2.62946 4 3.098841

—5.44089 — 2.200281

0.582613 — 0.4980441
—1.36009 + 2.665831
—0.26540 — 1.656181

2.62946 — 3.098841

—5.44089 + 2.200281

—0.676046 + 0.2037191
0.329443 + 0.1397211
0.294607 — 0.2929681

3.00074 4 0.912311

—5.60324 — 1.336041

—0.676046 — 0.2037191
0.329443 — 0.1397211
0.294607 + 0.2929681

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

3.00074 — 0.9123171

—5.60324 4 1.336041




Solutions to I

V=1(vol + v=1C)

Cusp shape

= 0.692318 + 0.1212921
—0.85392 — 1.336101
= 0.25519 4 1.457961

2.08625 — 5.889811

—8.03014 + 6.367411

0.692318 — 0.1212921
= —0.85392 + 1.336107
0.25519 — 1.457961

2.08625 + 5.889811

—8.03014 — 6.367411

= —0.201418 4 1.2936701
= —0.870058 — 0.5799761
—0.43169 — 1.560821

1.14651 + 5.979631

—0.201418 — 1.2936701
—0.870058 + 0.579976.1
—0.43169 + 1.560821

u
a
b
u
a
b
u
a
b
u
a
b

1.14651 — 5.979631

0.261428 + 1.2991801
—1.039600 + 0.2189451
—0.49696 + 1.448091

u

6.50957 — 9.345991

0.261428 — 1.2991801
—1.039600 — 0.2189451
—0.49696 — 1.448091

a
b
u
a
b

6.50957 + 9.345991

u =

0.580660 + 0.3111331
a= 0.0703685 — 0.05236591
0.409701 + 0.5239821

—1.38214 — 1.506971

—13.53047 4 3.878841

u= 0.580660 — 0.3111331
a= 0.0703685 4+ 0.05236591
b= 0.409701 — 0.5239821

—1.38214 + 1.506971

—13.53047 — 3.878841

u = —0.008074 + 1.3470701
a= 0.668271+ 0.5763921
b= 0.353028 + 0.8214431

4.43635 — 1.459291

u = —0.008074 — 1.3470701
a= 0.668271 — 0.5763921
b= 0.353028 — 0.8214431

4.43635 + 1.459291




Solutions to I}

V=1 (vol + v/=1C5)

Cusp shape

= —0.521433 + 0.3411791
= 1.33055 + 0.943731
—0.774976 — 0.2802331

2.02037 + 1.597601

—0.90500 — 4.858661

= —0.521433 — 0.3411791
= 1.33055 — 0.94373I
= —0.774976 + 0.2802331

2.02037 — 1.597601

—0.90500 + 4.858661

= —0.246474 + 1.3588001

0.252006 + 0.2375821 7.93137 4 4.249291 0
= —0.157937 — 0.6129561
= —0.246474 — 1.3588001
= 0.252006 — 0.2375821 7.93137 — 4.249291 0

= —0.157937 + 0.6129561

—0.604464 + 0.0901711
= —1.22485 + 0.961501
= 0.55744 — 1.314251

—3.13696 + 3.050671

—15.3053 — 6.17691

= —0.604464 — 0.0901711
= —1.22485 — 0.961507
= 0.55744 + 1.314251

—3.13696 — 3.050671

—15.3053 + 6.17691

= —0.20414 + 1.410401
= 0.154106 + 0.7211951
= —1.068550 — 0.5312981

7.58921 + 4.290421

= —0.20414 — 1.410407
= 0.154106 — 0.7211957
= —1.068550 + 0.5312981

> Q@ €| Q@ €| & €| & €| & &> & 8| & 8| & &
|

7.58921 — 4.290421

= 0.22437 + 1.425141
= 0.0464407 — 0.00377041

4.20552 — 4.478011

= 0.22437 — 1.425141
0.0464407 + 0.00377041
= —0.198621 — 1.0707601

U
a
b= —0.198621 + 1.0707601
U
a
b

4.20552 + 4.478011




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.02481 + 1.451601
= 0.437034 — 0.4326491
—0.071252 — 1.1216501

11.67150 4 3.027271

—0.02481 — 1.451601
0.437034 + 0.4326491
= —0.071252 + 1.1216501

U
a
b
U
a
b

11.67150 — 3.027271

0.24729 + 1.465421
a= 1.75227 — 0.414881
b= —1.92961 — 2.809861

u =

8.32154 — 10.596101

w=0.24729 — 1.46542]
a= 1.75227 + 0.414881
b= —1.92961 + 2.809861

8.32154 4 10.596101

u=0.20280 + 1.475431
a = —1.64369 — 0.444021
b= 0.68333 + 2.270561

8.98647 4 0.245811

0.20280 — 1.475431
= —1.64369 + 0.444021
0.68333 — 2.270561

8.98647 — 0.245811

—0.26313 + 1.470281
1.68249 + 0.126161
—1.40694 + 2.975821

14.6067 + 15.08771

—0.26313 — 1.470281
1.68249 — 0.126161
—1.40694 — 2.975821

b
u
a
b
u
a
b

14.6067 — 15.08771

= 0.25179 4 1.478481
= —1.236920 — 0.5014041
—0.07447 4- 1.781811

16.7327 — 8.64801

0.25179 — 1.478481
= —1.236920 + 0.5014041
= —0.07447 — 1.781811

U
a
b
U
a
b

16.7327 + 8.64801




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.18754 + 1.495291
= —1.54445 + 0.245041
0.90159 — 1.780281

15.7506 — 4.39221

—0.18754 — 1.495291
= —1.54445 — 0.245041

U
a
b
U
a
b= 10.90159 + 1.780281

15.7506 + 4.39221

0.20634 + 1.494481
1.075950 — 0.5019421
—1.36447 — 1.634961

17.4257 — 2.17591

0.20634 — 1.494481
1.075950 4 0.5019421
—1.36447 + 1.634961

17.4257 + 2.17591

0.147340 + 0.3782731
0.901441 + 0.5943401
0.521618 + 0.3214451

—0.581405 — 1.1672001

—7.43245 4 5.354311

0.147340 — 0.3782731
0.901441 — 0.5943401
0.521618 — 0.3214451

>~ Q@ €| @ €| & €| & &

—0.581405 4 1.1672001

—7.43245 — 5.354311
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II.
I} = (a®*uv®+2u?a+2a®—2u?+b+4a—4, 2a*u?+2u?a+- - -+2a—4, u*+2u—1)

(i) Arc colorings

a
= (—a2u2 — 2u%a — 2a% + 2u? — da + 4>
-1

ar= \—u+1
az = (2a2u2 — 3u2a — 3a% — 2au + 4u? —5a + 6

2a%u? + a’u + 3ula + 4a® + 2au — 4u + Ta — 2u — 8

—a?u® — d’u—a® —au+ 2u® — 2a + 2u+2
a?u? + 2u%a + 2a% 4+ au — 2u® + da — 4
—2a?u? — 3u2a — 3a® — 2au + 4u® — 5a + 6

a?u? + 2u%a + 242 + au — 2u? + 4a — 4 )

ag —

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 10

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

S u® + 6u® + 15u” + 24u8 + 31u® + 30u? + 21u® + 120> + 4u — 1

€2,63,¢4 w4+ 3u" + 3+ 3+ 2u+1
C7,C8
€5, C9, C10 (u® 4 2u+1)3
C11,C12
C6 (u® + 3u? + 5u + 2)3

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

! y? — 6y8 —y7 + 3615 + 15¢y° — 42" + 17y° + 84y% + 40y — 1

6360 4 6y® 4 15y7 + 245 + 31y + 30yt + 21y + 12y% + dy — 1
C7,C8
€5, C9, C10 (1 + 4% + 4y — 1)°
€11, C12
“ (v° +y* + 13y — 4)°

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

u = —0.22670 + 1.467711
a = —1.41033 + 0.653221
b= 0.02182 — 2.223381

9.44074 4 5.137941

—0.68207 — 3.209021

u = —0.22670 + 1.467711
a= 1.44687 +0.738361
b= —2.15352 + 1.996441

9.44074 4 5.137941

—0.68207 — 3.209021

u = —0.22670 + 1.467711
a= 0.169027 — 0.0606681
b= —0.073872 — 1.1039701

9.44074 4 5.137941

—0.68207 — 3.209021

= —0.22670 — 1.467711
= —1.41033 — 0.653221
0.02182 + 2.223381

9.44074 — 5.137941

—0.68207 + 3.209021

= —0.22670 — 1.467711
= 1.44687 — 0.738361
= —2.15352 — 1.996441

9.44074 — 5.137941

—0.68207 + 3.209021

u = —0.22670 — 1.467711

a= 0.169027 4 0.0606681 9.44074 — 5.137941 | —0.68207 + 3.209021
b= —0.073872 4 1.1039701
u= 0.453398
a= 0.733086 —0.787199 —12.6360
b= —0.00791217
uw=0.453398
a = —2.57211 + 0.141191 —0.787199 —12.6360
b= 1.20953 + 0.979101
u = 0.453398
a = —2.57211 — 0.141191 —0.787199 —12.6360
b= 1.20953 —0.979101

14



I I = (—u® 4+ u” —4u8 + 3u® —qu* + 203+ b—u —1, —u® — 5u” — 8u® —
3ud + a + u, u'® + 5ud + 8ub + 3u* — u? +1)

(i) Arc colorings

u? +5u” + 8u® + 3ud —u
w —u" +4ub -3+t — 20 +u+1

az = 2u8 —uT +8uf —3uP +8ut — 2w +u+1

—u8 —4ub — Byt — 22 —1
u? 4 4u” + 5u’® + ut + ud + 2u?

w? +5u” + 8u® + 3ud —u
wd —u” 4+ 4uS — 3ud +4ut — 2P +2u+1

u9—|—5u7—u6—|—8u5—3u4—|—3u3—2u2—u—|—1>

ag —

0
ag = (u8+3u6+u42u2+1>
(ii) Obstruction class =1

(iii) Cusp Shapes = 4uf + 12u* + 8u? — 8

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

‘@ (u—1)%°
C2,C3,C4 (u2 =+ 1)5

C7,C8

s, €10, C11 ul® + 5u® 4 8ub 4+ 3ut —u? 41
6 ut® 4 u® 4 8ub + 3ut + 3u% + 1
9 (u® +u* +2u® +u? +u+1)3
c12 (u® —u* +2u® —u? +u—1)3

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
@ (y—1)*
C2,C3,C4 (y+1)10
C7,C8
C5, €10, C11 (y° + 5y* + 8y + 3y* —y + 1)?
Co (v° +y* + 8y + 3y* + 3y + 1)?
€9, C12 W +3y" + 4y’ +y° —y— 1)

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
U = 1.2177401
a= 0.8211967 2.40108 —6.51890
b= 1.58802+ 0.766831
U= — 1.2177401
—0.8211961 2.40108 —6.51890
b= 1.58802 — 0.766831
u=0.549911 + 0.3099161
a = —1.38013 4+ 0.777801 0.32910 — 1.530581 | —7.48489 4 4.430651

b= 1.261070 + 0.2186411

uw=0.549911 — 0.3099161
a = —1.38013 — 0.777801
b= 1.261070 — 0.2186411

0.32910 + 1.530581

—7.48489 — 4.430651

u = —0.549911 + 0.3099161
1.38013 + 0.777801
b= —0.383681 — 0.8968621

0.32910 + 1.530581

—7.48489 — 4.430651

u = —0.549911 — 0.3099161
a= 1.38013 —0.777801
b = —0.383681 + 0.8968621

0.32910 — 1.530581

—7.48489 + 4.430651

uw = —0.21917 + 1.418781
a= 0.106340 + 0.6884021
b= —1.43286 — 1.549511

5.87256 + 4.400831

—3.25569 — 3.498591

uw = —0.21917 — 1.418781
a= 0.106340 — 0.6884021
b= —1.43286 + 1.549511

5.87256 — 4.400831

—3.25569 + 3.498591

w=0.21917 + 1.418781
a = —0.106340 + 0.6884021
b= 0.967447 + 0.638115]

5.87256 — 4.400831

—3.25569 + 3.498591

w= 0.21917 — 1.418781
a = —0.106340 — 0.6884021
b= 0.967447 — 0.638115]

5.87256 + 4.400831

—3.25569 — 3.498591

18



IV. I =

(—2u3a+2ud+---+2a%+b, —2u3a?+8ua+---+8a—2, ut+ud+2u?+2u+1)

(i) Arc colorings

a
—3a?u? + 2ula — 4a?u + 2u?a — 2ud — 242 + 2au — 2u? — 2u>

—u2a? —a?u® —dPu—vla+2ud —au+2u? —a+4du+4
—5a2u? + 3uda — 6a*u + 4ua — 4u® — 3a® + 3au — 4u® + a — du — 2
wda? + 2a2u? — 2ula + 2a%u — vla + 2ud + a® — 2au — a + 2u
—2u3a? — 2a%u® + vda — a®u — 2uPa — 2au + 2u® —a + 2u + 2

—u2a? —a?u® —dPu—vPa+2ud —au+2ut —a+4du+4
—5a%u? + 3ula — 6a’u + 4u?a — 4ud — 3a® + 3au — 4u® +a — du — 2

ag =

ag —

2u3+u2+3u+3>

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u? — 4u — 6

19
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u'? 4 8utt 20 41
€2, €3, C4 u'? + 40 — o + 608 — 30" + 6u’ — 3u® + 5ut — 3uP 4+ 2u% — 2u + 1
C7,C8
C5,Cg, C10 (u4 _ u3 + 2U2 —2u+ 1)3
C11,C12
6 (u? —u+1)°

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y12_8y11++4y+1
C2,C3,Cy4 y12+8y11++2y2+1
C7,C8
€5, €9, C10 (y4 +3y3 —|—2y2 + 1)3
C11, C12
Co

(v +y+1)°

21



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.621744 4 0.4405971
a= 0.231503 — 0.0485861
b= 10.496332 — 0.4631571

3.28987 + 2.029881

—4.00000 — 3.464101

u = —0.621744 4 0.4405971
—0.64313 + 2.573411
b= —0.45889 — 1.592091

3.28987 + 2.029881

—4.00000 — 3.464101

u = —0.621744 4 0.4405971
2.55302 — 1.007331
b= —1.42232 + 1.418951

a =

3.28987 + 2.029881

—4.00000 — 3.464101

u = —0.621744 — 0.4405971
= 0.231503 + 0.048586.1
0.496332 + 0.4631571

3.28987 — 2.029881

—4.00000 + 3.464101

—0.621744 — 0.4405971
= —0.64313 — 2.573411
—0.45889 + 1.592091

3.28987 — 2.029881

—4.00000 + 3.464101

—0.621744 — 0.4405971
= 2.55302 + 1.007331

3.28987 — 2.029881

—4.00000 + 3.464101

= 0.121744 + 1.3066201
—0.305126 + 1.0952601
= —0.07449 + 1.735341

3.28987 — 2.029881

—4.00000 + 3.464101

= 0.121744 + 1.3066201
= —0.365118 + 0.7416541

b
U
a
b
U
a
b= —1.42232 — 1.41895]
U
a
b
U
a
b= 2.37156 — 0.583281

3.28987 — 2.029881

—4.00000 + 3.464101

0.121744 + 1.3066207
a= 0.528852 — 0.3194261
b =

0.0878104 — 0.05631091

3.28987 — 2.029881

—4.00000 + 3.464101

uw= 0.121744 — 1.3066201
a = —0.305126 — 1.0952601
b= —0.07449 — 1.735341

3.28987 + 2.029881

—4.00000 — 3.464101
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Solutions to Ij
u=0.121744 — 1.3066201
a = —0.365118 — 0.7416541
b= 2.37156 4 0.583281

= 0.121744 — 1.3066201
0.528852 + 0.3194261
b= 0.0878104 + 0.05631091

Vv—1(vol + /—1CS) Cusp shape

3.28987 4 2.029881 | —4.00000 — 3.464101

3.28987 4 2.029881 | —4.00000 — 3.464101
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V. u-Polynomials

Crossings u-Polynomials at each crossing
o (u _ 1)10
(u? 4 6u® 4 15u” + 24u8 + 31u° + 30u” + 21w 4 12u® + 4u — 1)
(w4 8utt 4 202 4 1) (WP 4 190 4 — 20w + 1)
(u? +1)°(u” + 3u” + 3u® + 3u® + 2u + 1)
€2, ¢
o S(u'? 4 4u'® —u® + 6ud — 3u” 4 6uS — 3u® + But — 3u + 2u® — 2u + 1)
(WP U 4 =100 4 1)
(u? 4+ 1)%(u® + 3u” + 3u® + 3u® + 2u + 1)
C3,C4,C
° i S(u'? 4 40 —u® +6u® — 3u” + 6u® — 3u’ 4 Sut — 3ud + 2u® — 2u + 1)
(PO U+ 2u 1)
¢s, 10, C11 (u® 4 2u+ 1)) (u* —u® +2u® = 2u+1)3(u'® +5u® + - —u? +1)
(uP® 4207 + - 4 Bu+ 2)
C6 (u? —u+ 1) + 3u® + 5u + 2)3(u'® + u® + 8u® 4 3u* + 3u? + 1)
(w0 —2u™ + -+ — 231w + 202)
Co (u? +2u +1)3(u* —u® + 2u® — 2u + 1)3 (v’ + u* + 2u® +u? +u+1)?
(uP® — 8u™ + -+ — 1317u + 136)
1o (u? +2u +1)3(u* —u® +2u® — 2u+1)3 (v’ —u* +2u® —u? +u—1)?

(u®® — 8uB + -+ — 1317u + 136)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
o (y -1
S(y° — 6y — 7 +36y° + 15y° — 42yt + 1797 + 842 + 40y — 1)
Sy =8yt Ay + D) (P ATy 4 1224y 4+ 1)
(y+ 1)
Co,C
> (5 + 6y + 1597 + 245 + 3135 + 30y + 213° + 1252 + 4y — 1)
P8yt 22+ D 197 - 20y + 1)
(y+ 1)
€3,Ca,C8 9 8 7 6 5 4 3 2
-(y” 4+ 6y° 4+ 15y" + 24y° + 31y° + 30y~ + 21y° + 12y° + 4y — 1)
(2 8yt 4+ 207 + 1) (570 + 63y - — 84y + 1)
s cien | WA Ay = 1P (" + 3% + 29" +1)°
((y° + 5y + 8y + 3y — y + 1)) (Y +520%° + -+ 19y + 4)
e (12 +y+ 1" +y° + 13y —4)°(y° + ' +8y° +3y” + 3y +1)°
(%% + 20y 4 - - - + 498907y + 40804)
Co, C1a (v° + 4% + 4y — 1°(y" + 3y° + 29" + 1)°

(WP + 3y + 4y + 7 —y — 1)P)(Y° + 48y + -+ - — 423177y + 18496)
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